Ajay’s plant was 11 centimetres tall.
It grows 7 centimetres taller.

How tall is the plant now?

cm

Put a digit into each empty box to make the calculation correct.

Preston+Primary+School

Page 1 of 4



Sam plays a maths game.

Each é Is equal to 2 points.

How many points is one .\

+ é + é = 10 points

equal to?

Write the correct number in the box.

45

50

55

points
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Circle the three dice that add up to 13

O
O
O O o 0 ©
O
DD &5
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Here are two cards.

Choose a card to make each calculation correct.

One is done for you.

23 1

40 1

19 1
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